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j x*In2x dx =—=x"In2x —f —x“dx
17 1 3 1 h3
v Z "z
i = I g®
e o .
=3 x’In2x 1 gx 1
Z 2
=9Iné 3+1—9l6 215
e 73 [T

106




aaligll pghil ibgll jS)gll

National Center for CurriculumDevelopment

1 ;
dv = sinbxsin3xdx = E(COS 2x — cos 8x)dx

' 45 3
du = dx Y= Zsm 2x —Esm&t

i
j xsin 5xsin3x dx
0

a8 Jation 1_8§f§(1_2 1_8)
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- (——cos 2X + ——CO0S Sx)

8 128 5
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=3 \ahd 128 8 128 16
1
u=x dv = eZdx
1
du = dx v = 20ZF
(13 .:.l. .1 Q (73 1
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0 0 0
1 93 1 7]
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du
u=Inx >—=—=dx=xdu |, x=e"
dy: x

f(ln x)dx = fuzxdu = fuze"du
:d_g.h‘_“ AdATY ¢ ye c,l_);sﬁ'l.l

5 Skall A3ELE ¢ £ (20) 5 500 AL 5 g (ar)

juze“du —e*(u*-2u+2)+C

f(ln %dx =e"*(Inx)?-2Inx+2)+C

=x((Inx)® —-2Inx+2) +C
15 sl ol 320 Al 45y yLll

u = (Inx)? dv = dx
2Inx
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f(ln x)?dx = x(Inx)* — f 2Inxdx
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u=2Inx dv = dx
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X
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—x(Inx)? - 2xInx+2x+C
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